
 

 

 
DS-SBOX-03 
Hikvision Outdoor Surveillance Box 
 

 

 

 

 

 

  

 

 

 High strength Polymer Material(Flame Proof UL94-V0) 

 IP66 & IK10 Protection 

 Fast Deployment & Easy Installation to be mounted in a pole or a wall 

 Highly adaptable with Hikvision IPC, PTZ and IP Horn Speakers  



 

 Specification 
General 

Material  PC/ASA; Hikvision White(RAL 9003)  

Dimension 448.72mm x 387.53mm x 225.44mm 

Weight 5.2kg 

Startup and Operating 

Conditions 
-40 °C to 60 °C (-40 °F to 140 °F). Humidity 95% or less (non-condensing) 

General Function Loading Capacity of Front Panel is 8kg; side panel is 5kg 

Packing List 

Security Box    x1 

 Installation back Plate    x1 

 Pegboard    x1 

 Shelf board    x1 

 Din Rail     x1 

 Phill ips head Screw M8x20   x4 

 Phill ips head Screw M8x12   x2 

 Phill ips head Screw M4x10   x12 

 Self-tapping Screw M3×10   x10 

 Hex Head Phill ips Screw M8×25   x4 

 Hex socket Screw M6×25   x4 

 Hexagon Socket Screwdriver   x1 

 Cylindrical pin M4×40   x4 

 Waterproof Cable connector 1(5-6.5mm)   x3 

 Waterproof Cable connector 2(6.5-8mm)   x3 

 Network cable piercing accessories    x1 

 Cable Gland G3/4   x1 

 Cable Gland M20   x2 

 Metal strapping band(80-200mm)   x5 

Approval 

Protection IP66, IK10 

 
 Available Model 
DS-SBOX-03 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 Dimension      Unit: mm (inch) 
Box Dimension: 

 

 
Front Panel: 

 
 



 

Side Panel: 

 
Installation Plate Dimension: 

 

  



 

 Accessory 
 

With Cameras: 

DS-1618ZJ DS-1602ZJ  DS-4603ZJ-WA DS-1280ZJ-XS   DS-1280ZJ-DM21 

 

DS-1260ZJ 

 

Box Installation: 

  DS-1280ZJ-DM46 DS-1280ZJ-DM45 

 
 
 
 
  

 
 

  DS-1280ZJ-DM8  DS-1280ZJ-PT6 

 
 

Metal  strapping band ((x5 included)             Installation Plate (included) 

  (Pole Mount 80-200mm)                  (Wall Mount, M8 bolts need to purchase) 

 

Recommended Compatible List: 

 
 

*This table is just taking part of Hikvision compatible models for your reference, for other models that are not in the list please 
check the holes 



 

 

 
 
 
 

 
 
 

 
 
 
 

 
 
 
 

 
 
 

 
 
 
 

 
 


